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4. The cost of installing a new computer 
system in 2010 was not recorded in 2010. 
It was charged to expense in 2011. 
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Value of 
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12/31/10 

2010 

3. The cost of moving several 
manufacturing facilities from 
metropolitan locations to suburban areas 
in 2010 was capitalized. The cost was 
written off over a 10-year period 

·········· beginning-in2010. 

2. A major overhaul of factory machinery in 
2010, which extended its useful life by 5 
years, was charged to accumulated 
depreciation in 2010. 

( 
) 

1. In 2011 clerical workers were trained to 
use the new computer system at a cost of 
$15,000, which was erroneously capital­ 
ized. The cost is to be written off over 
the expected life of the new computer 
system. 

Transaction 

If no error was made, write NE in each of the four columns. 
I 
( 

0 = Overstate; U = Understate; NE== No Effect 

PART I (Essav Questions) 

Question One 
During 2010 and 2011, Sawyer Corporation experienced several transactions involving plant 
assets. A number of errors were made in recording some of these transactions. For each item 
listed below, indicate the effect of the error (if any) in the blanks provided by using the following 
codes: 

- ·=~ ~-~-:::::~:;~~:-~;~, ,, 
~ 
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ii Required 
'1i • (a) Compute the amount of goodwill recognized, if any, on May 31, 2011. 
I, f}cUA.,\J~A}-¬ __,f(.~ .<./:_ ,;, ~i 6_co/ooo - \,) \ cc.oo '"::. 14 2f; 00/ o o c» 
J(; G~P~~;JI ~· I-a._~,~, c9-C ~u.;-:. r-ct~u:t~V~ ~J4-1A.t.h .Ja~I 

~ ~<.3J'o1000 -r-2J,f>e61ooo ~ -rioa,ooo =s 
(b) Determine the impairment loss, if any, to be recorded on December 31, 2011. ~~?>~ ~g~~:~,#-, = s x::~i;~G;x Not:s:~;,~ 
( c) Assume that the fair value of the Birzeit division is $1;800,000 instead of $2,200,000. 

Prepare the journal entry to record the impairment loss, if any, on December 31, 2011. 

("o.iJL, l;rtilUl (,4 ~Jvu:f ~'v~? ~ l;Boo1oc)O + 2oc)1ooo '":. 21ooc;oco 

B ~ vetlti! ,// --.-- --- -- 21 Z oo 1 oOO 1J. 
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~17/v~J ~ ::-~~-~ 
· '=- f5 V' ~ uti// - Ff!! V ~~/~~If:'(/ ,·: ! .: ,_ 1 ·_, :_ ''- 

/,/ -? S CJ 0100 D _ .2-<D016 0 c-:J ::: ~ 50:01 COe, ~ 

0 (. 691;$/~ _r V'f-'-~nL-i!-i{ ·3 1QSJ /· ()O (./ 

It is determined that the fair market value of the.Birzeit division is $2200,000. The recorded 
amount for Birzeit's net assets (excluding goodwill) is the same--~fair value, except for 
property, plant, and equipment, which has a fair value of $200,000 above the carrying value. 

It was determined at the date of the purchase that the fair value of the identifiable net assets of 
Birzeit was $2,800,000. At December 31, 2011, Birzeit reports the following balance sheet 
information: 

Current assets $ 900,000 Current liabilities $ 600,000 
Non current assets · 2.700,000 Long-term liabilities 500,000 

Stockholders' equity 2,500,000 
Total liabilities and 

Total assets $3,600.000 stockholders' equity $3,600.000 

Question Three 
On May 31, 2011, Ramallah Company paid $3,300,000 to acquire all of the common stock of 
Birzeit Corporation, which became a division of Ramallah. Birzeit reported the following 
balance sheet at the time of the acquisition: 

$ 800,000 
2,400,000 

(700,000) 
(500,000) 

$2.000.000 

Current assets 
Noncurrent assets (including goodwill recognized in purchase) 
Current liabilities 
Long-term liabilities 

Net assets 
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3,000,000 
300,000 
750,000 
300,000 
225.000 

$5Jl25.00Q ' 

The amount of research and development costs charged to Hall's 2011 income statement 
should be 

(a:) $2,025,000. 
b. $1,900,000. 
c. $4,500,000. 
d. $1,500,000. 

.s 450,000 

8. Hall Co. incurred research and development costs in 2011 as follows: 

Materials used inE~-~~-a~~h and d~yelopmi:ntproje._cts 
.. 'Eqliipme'i1t acquired that will have alternate future uses in future research 

and development projects 
Depreciation for 2011 on above equipment 
Personnel costs of persons involved in research and development projects 
Consulting fees paid to outsiders for research and development projects 
Indirect costs reasonably allocable to research and development projects 

I The old boiler was sold for $4,000. What amount should York capitalize as the cost of the 
new boiler? 
a. $160,000. 
b. $166,000. 

(£) $170,000. 
d. $150,000. 

il': On January 2, 2010, York Corp. replaced its boiler with a more efficient one. The following 
information was available on that date: 

$150,000 
10,000 

4,000 
20,000 

Purchase price of new boiler 
Carrying amount of old boiler 
Fair value of old boiler 
Installation cost of new boiler 

"\J.·· 
r-'F\.: 
J 

/On September 10, 2010, Jenks Co. incurred the following costs for one of its printing presses: 
Purchase of attachment $55,000 
Installation of attachment 5,000 
Replacement parts for renovation of press 18,000 
Labor and overhead in connection with renovat~~)n of press 7,000 

Neither the attachment nor the renovation increased :!le estimated useful life of the press. 
However, the renovation resulted in significantly increased productivity. What amount of 
the costs should be capitalized? 
a. $0. 

@ $85,000. 
c. $78,000. 
d. $67,000. 

a. memo entry only. 
b. credit to extraordinary income for $250,000. 
()credit to Contribution Revenue for $250,000. 
d. credit to Donated Capital for $250,000. 
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.1'1. Balcom Corporation acquires a coal mine at a cost of $500,000~ Intangible development costs 
total $120,000. After extraction has occurred, Balcom must restore the property 
(estimated fair value of the obligation is $60,000Y,- after which it cari be sold for 
$170,000. Balcom estimates that 5,000 tons of coal can be extracted. If 900 tons are 
extracted the first year, which of the following would be included in the journal entry to 
record depletion? 

d) Debit to Inventory for $91,800 
b. Debit to Accumulated Depletion for $91,800 
c. Credit to Inventory for $90,000 

@ Credit to Accumulated Depletion for $153,000 

,,.,. ..... --· .. --- ....... 
J6. Robertson Inc. bought a machine on January 1, 2000 for:$}00,000\ The machine had an 

,,!/,}·--'-=···· expected life of 20 years and was expected to have a salvagevatueOf $30,01)0. On July 1, 
('ZJ 2010, the company reviewed the potential of the machine and .. determined that its 
- undiscounted future net cash flows totaled $150,000 and its discounted future net cash 
~· Jk._~216 .,,,, flows totaled $105,000. If no active market exists for the machine and the company does .> 

~ not plan to dispose of it, what should Robertson record as an impairment loss on July 1,1/ .,L~ 

2010? J f_,r';" ~'l 
fl. $15,000 1;t2-.Ji5h . (~ y)/f 

i~ $ 8,250 ~"'/ 

~~53,2500 ~ 

15. In January 2010, Fehr Mining Corporation purchased a mineral mine for $4,200,000 with 
removable ore estimated by geological surveys at 2,500,000 tons. The property has an 

. /,/"'estimat~d value of $400,000 after the ore has been extracted. Fehr incurred $1,150,000 of 
f/ development costs preparing the property for the extraction of ore. During 2010, 340,000 
· tons were removed and 300,000 tons were sold. For the year ended December 31, 2010, 

Fehr should include what amount of depletion in its cost of goods sold? 
a. $516,800 
@ $594,000 
c. $673,200 
d. $456,000 

l~. Malrorn Manufacturing Company acquired a patent on a manufacturing process on January 
,I 1, 2010 for $5,000,000. It was expected to have a 10 year life and no residual value. 

Malrom uses straight-line amortization for patents. On December 31, 2011, the expected 
future cash flows expected from the patent were expected to be $400,000 per year for the 
next eight years. The present value of these cash flows, discounted at Ma!rom's market 
interest rate, is $2,400,000. At what amount should the patent be carried on the December 
31, 2011 balance sheet? 

@ $2,400,000 ti ® $4,000,000 
c. $3,200,000 
d. $5,000,000 
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20. On September 19, 2010, McCoy Co. purchased machinery for $190,000. Salvage value was 
/ estimated to be $10,000. The machinery will be depreciated over eight years using the sum- 

/./ of-the-years-digits 'method, If depreciation is computed on the basis of the nearest full 
//,,. month, McCoy should record depreciation expense for 2011 on this machinery of @ a. $35,000. 

b. $38,845. 
c. $40,903. 

~ $38,750. 

19. On April 13, 2010, Neill Co. purchased machinery for $120,000. Salvage value was 
estimated to be $5,000. The machinery will be depreciated over ten years using the 

.
~.f~ double-declining balance method. If depreciation is computed on the basis of the nearest 
WJ fu11 month, Neill should record depreciation expense for 2011 on this machinery of 

i /~ a. $20,800. q '/. \L.O,oOO ''j. o- '(_ 
j/ b. $20,933. ~ 

@ $20,400. 
d. $20,550. 

q6 00_9-,_ 
·---·--~·-· 

Mallon computes depreciation by the composite method. 

!8. The composite rate of depreciation (in percent) for these assets is 
a. 11.67. 

@ 10.27. 
® 11.03. 
d. 10.72. 

Life in Years 
12 
10 
6 

Salvage Value 
$20,000 
30,000 
15,000 

·]_~ ooo 
3(:. oo ~ 
~6 

Total Cost 
$320,000 
390,000 
225,000 

Machine A. 
Machine C 
Machine M 

A schedule of machinery owned by Mallon Co. is presented below: 
Estimated Estimated 


